efficiency efficiency efficiency

efficiency

0.9
0.8
0.7
0.6
0.5

0.9
0.8
0.7
0.6
0.5

0.9
0.8
0.7
0.6
0.5

0.9
0.8
0.7
0.6
0.5

T POV T PI P T gI P I gI TP QI TP I I PP IO QgI PP TP IO I T Q00000

wheel 0 chamber 1 sector 11 sl 1 layer 4 I

o 10 15 20 ZE)I — 30 — 35 — 40 — 45 I IceI”

;‘ PO T OO0 00T 0 gU o000 99U ee00 0000000000000 00000Y
wheel 0 chamber 1 sector 11 sl 1 layer 3 I

o 10 15 20 29 30 35 40 45 cell

9-0-9-0-9-0-0-9 'ﬂgfgﬂm.ﬂogomf-ﬂgwimgffgﬁ
wheel 0 chamber 1 sector 11 sl 1 layer 2 I

'y

9000 _._'.'-.— _._"‘—“—.r“ﬂ_._‘.‘-.—ﬂ..:.‘...—.—"_._'.'_._'.'—.—"'...‘.".‘-.—...“‘.‘_.:.-'.'“

wheel 0 chamber 1 sector 11 sl 1 layer 1 I

15) 10 15 20 29 30 35 40 45



